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Proof #1

Given: a triangle with m«£3 = 90° )

Prove: Z1 and £2 are complementary I’Is 5

Statements Reasons

m£3 = 90° Given
ms1+ms2 +ms3 = 180° Sumof L'sfora A
mZ1 + mZ2 + 90°= 180° Substitution

msZ1+mz2 = 90°

Subt. Prop. of equality

O wIN -

Z1 and £2 are complementary

O @I

Defn of comp. £'s

Proof #2

Given: PQ bisects ZSPT, SP = PT

Prove: ASPQ = ATPQ

Statements Reasons
1. PQ bisects ZSPT 1. Given
2. SP=PT 2. Given
3. £SPQ =z £QPT 3. Defn of £ bisector
4. P—Q = F@ 4. Reflexive prop. of congruence
5. ASPQ = ATPQ 5. SAS congruence postulate
Proof #3

Given: A_B.:;-ZE, BD=CD

Prove: AD bisects ZCA

Statements Reasons
1. AB= AC, BD=CD 1. Given
2. AD= AD 2. Reflexive prop. of congruence
3. AACD = AABD 3. SSS congruence postulate
4. Z/CAD = #BAD 4. CPCTC
5. AD bisects ZCAB 5. Defn of angle bisector
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Proof #4

Given: p'gram ABCD w/ diagonals AC &

BD

Prove: A0 =0C and DO = OB
Statements Reasons

1. p’gram ABCD w/ diagonals AC & BD 1. Given

2. AB || DC 2. Defn of parallelogram

3. ZBAO = #/DCO and ZABO = «CDO 3. Altint £'s = Ehn

4. AB=CD 4. Opposite sides of a p'gram =

5. AABO = ADCO 5. ASA congruence theorem

6. AO=0C and DO = OB 6. CPCTC

Proof #5

Given: AE = EC and DE = EB A:&fwé B

Prove: ABCD is a p'gram pet ¢ c
Statements Reasons

1. AE = EC and DE = EB - Given

2. /BEC = Z/AED 2. Vertical L's =

3. ABEC =z AAED 3. SAS congruence postulate

4. /CBE = Z/ADE 4. CPCTC

5. BC | AD 5 Altint £'s= —lines || o @ik nt £ can e

6. ZAEB = «CED 6. Vertical /'s = B

7. AAEB = ACED 7. SAS congruence postulate  {

8. «DCE = /BAE 8. CPCTC / 1

9. 4B | DC 9. Altint £'s = — lines [| conve{fe- |

0. ABCD is a p'gram 10. Defn of a paralielogram -/ /
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Proof #6

Name:

Given: trapezoid ABCD with AD = BC

Prove: AC = BD

Statements Reasons

1. Trapezoid ABCD 1. Given
Ay AD = BC 2(b) PED is on itaxceler tap | 2[)Given  2Ak) Dep of isorlas trapezoid.
3. DC=DC 3. Reflexive prop of =
4. «/BCD = ZADC 4. Base £'s in an isos. trapezoid are =
5. ABCD = AADC 5. SAS
6. AC=BD 6. CPCTC
Proof #7
Given: p'gram ABCD A B
£ZCBD = ZABD, ZBDC = ZBDA
Prove: ABCD is a rhombus D c

' Statements | Reasons
1. p'gram ABCD 1. Given
2. ZCBD = ZABD, «BDC = ZBDA 2. Given
3. BD = BD 3. Reflexive prop of =
4. ABCD =z ABAD 4. ASA congruence theorem
5 BC ;é’ﬁ 5. CPCTC
6 (T) =ap 6. CPCTC
7aB =D & Aap =R&C 7.Cpp sides f o p'ogm ae =
8 AB=RC =D =cD 8. Transitive prop of =
9. ABCD is a rhombus 9. Defn of a rhombus




